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— & i B (nL ) 0 0 0 0 0
PN % & (=YE3 Rtk Y3 (Y Rt
B Ok B A4 F v W) 5.0 5.6 5.1 7.2 4.2
H % % ( TOCOE ) (mg/L) 0.34 0.38 0.31 0.79 0.85
pH & 6.93 6.73 6. 97 7.43 7.30
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= " O 20.0 20.0 20. 0 20.0 20.0
7K R © 18.5 19.0 21.5 18.5 18.5
— i H B (nl ) 1 0 0 0 0
PN 1% E) Pt R [=]E3 (=43 [={E3
Bt W 4 F v @ 4.4 3.5 4.9 3.6 4.8
A % % % (TOCOE ) (mg/L) 0.57 0.78 0.61 0. 69 0.55
pH & 7.78 7.21 7.29 7.42 7.68
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— & il B (L) 0 0 0
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ok B a4 A v me) 4.8 4.8 4.4

" H Y% % (TOCOE ) (b 0.63 0.48 0.90

pH & 8.23 7.73 8.21

5 = BERL RERL RERL

S BEL BERL BERL

= E @ 0.5 KRt 0.5 HKi 0.9

& E @ 0.2 i 0.2 A 0.2 HRiH

H E & i i

i = # H SFTHESH2TE ~ S MTHE6H6H

i = 4 B BT FKEKEREE VX —

i = =4 i = TR N R




